Potencias de 10 (C)

6,461 = 10

3,193 =100

1,575 =+ 1000

6,449 =100

2,341 -+1000

6,933 = 100

6,049 = 1000

2,698 = 10

2,973 =100

6,568 10

Calcule los siguientes cocientes.

0,076 = 10

3,46+ 10

8,511 +1000

1,851 = 100

1,158 =100

5,866 -+ 100

4,910

3,105+ 100

6,498 = 100

7,693 100
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Potencias de 10 (C) Respuestas

6,461+ 10
0,6461
3,193+ 100
0,03193
1,575 = 1000
0,001575
6,449 = 100
0,06449
2,341 -+ 1000
0,002341
6,933+ 100
0,06933
6,049 - 1000
0,006049
2,698 = 10
0,2698
2,973+ 100
0,02973
6,568 = 10
0,6568

Calcule los siguientes cocientes.

0,076+ 10
0,0076
3,46+ 10
0,346
8,511+ 1000
0,008511
1,851 =100
0,01851
1,158 =100
0,01158
5,866 -+ 100
0,05866
4,9+ 10
0,49
3,105+ 100
0,03105
6,498 = 100
0,06498

7,693 = 100
0,07693
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